- X TERNAL
COOLING FAN

2}
g
S F/’ O
I 4—@5 [90.197]
160 [6.299] - 137 [5.394 MOUNTING HOLES
~ - Air flow f ~ R | FOR M4 SCREWS
¢
‘ ﬂ — M — 3 ==————] V e E— _
,\ f ~ =1 N=—=[_J {
4 = . I [ = O .

[ T T ]
L|
L|
L]
L]
L]

~— ~— ~—

| ]

|

|

|

|

|

|

[T— L]
©

2)

<)

232 19.134]

[

1 1 1 | 1

S E AR <«

N @\

| L)

m f s R R o

T L)
L O k\ j)

@N

(T 9 7
| Y ]
B A e\
|
|
|

\\\ A0 / ///( =

e
=
T
@)
B
iy
L

R

=
] M
A\ \
o STV
_ — _ . TRELERERE
P = - 4 >
T —TT NAME PLATE Alr flow - o @Y\ o ’
oo 1] & 3 b
ainn \
RIRIN ©) ‘
|/|| MI A 191 T3 N H"HITE T I3 HI L._|\|
I X |/|| [ 11T TIT FATFT B IH HI |||\|

é—’r%';fuﬂ LS S S S

Q gﬂwwgmigﬁ
- ]

—

= 1 S0 View
R uiuiuiuiuiuiviiwiirinizizinininin R
77;7—<'\—§:7;7—<§x
1] L/ 1 | \ | [
NSRS
/\E—f'\ /S—f/\
i slilalslslalsla\C L s ls]s]a1s]s

CHANGE

LS | SLV—HTO0 S

S Toone = | Tommson” | oo © | = oigdal [H100 EXTERNAL DIMENSION DRAWING
PROJECTION / . NS MM . . TITLE FRAME SIZE A
THIS DUCUMENT AND INFLRMATILN Coils

COUNTAINED IN IT ARE CUNFIDENTIAL AND | pwe. No.

CANNUT Be CUPIED R DISCLUSED N

WHOLE OR IN PART WITHOUT PERMISSION | "Rrer. o
|




MAIN CIRCUI
TERMINALS

T/B PITCH: 13 [0.512

2—GROUND
TERMINALS

]
O
CONTROL CIRCUIT —
TERMINALS  —
0] -
) ff o) .
e T L TS [M i
0000000000000 OO KT ) Y
@ loopooooopoooood) (O L i)
(A R s R R~ A TA
iz z%za 5% o 5% N zggg ZN : ™~
! A2 - - R 20 A2 -2 S ;:: 1
1 s R e = e = Ej
(%><§3©HAR@E
+ o
L ) —
@7 o [T Y& R
] 20 [C078 ] -
B el B — N”)
199 1062/ ~ |
o — [ ] o0 N
59.3 | 2.334] R
— — O
— ()
00 | ™M
. ~I
510.197]
— i}
— T o $E§§§§?
T TN
NE | 7
J]L NPT VAT A A NPT P AT P A /ﬂJ/J | 1 ‘
O B e e e A R B
& FﬂUUUVH“MMWMMMMNHNUWUUUUUMUUWVTSNNUN'\II [0 ] [ —F|
B e e S S 2 =
AT T O B vERERER RN
| o = — T T e—= —= -
1 = e el s, T
— = " ——1— A ~" | 0O
j — |~ -
Jaupuiaiapupsiagint —| |
_ — ﬁ( L) |
’\ R ! ~
H Q Q 5 00 (\,,_,,/j N bQ
. _ e S
o e e A A e s NG B O ANE
1117 - N ] 7 ™~ NI TN (\u) N)
iR
0 O O | ~N | — | OV
I e e D
Sl ROnnar — || O
igsEf;zxgiifzﬁ S .
— 1 =1 o | ! Y Y

\h
[ o
=
91.1 | 3.587]
102.7 | 4.043
135.3 |5.327

\ \ \ \ \ \
“@mm\mmm\mmm\mmm\mmm\mmm \

(ole|elele rlele|slele slele|elele

gle il ciele eieie clele siel®

T~

|

VOO AN\
WA

%@

(/\

(Y \\SER\\SER\\ SR}

{
\

L ACHARGE

Wrrrrrees

S

-

)V

C W

After removing

Covers & Cable guide brkt

CHANGE

LS | SLV—H10C SHeEts
g ] e T | Tesod | o o | E=04Al H100 TERMINAL & WIRING DRAWING
rocion | /L NS M e |FRAME SIZE A (200V)
THIS DUCUMENT AND INFURMATILIN Coils
CUNTAINED IN 1T ARE CUNFIDENTIAL AND | pwe. no
CANNDT BE CUPIED UR DISCLUSED IN YRSy—
WHOLE OR IN PART WITHOUT PERMISSION | “Rer. no.
| |




.
MAIN CIRCUI -
[ERMINALS CQNTRQL<§RCUT(5
— TERMINALS _ _
. ¢ a
) | ’" | | o WL AT
— B ﬁ ] 7S =1 U__=‘ f_m W
- 0000000000000 T0 11 j HMN\ Y -
- © 0000000000000 O L] | =fﬂ§;§f”“ .
N Feym A A s AR R e R e Al 1 ' O ¢
kl v N @ Z/:(_—l CHA‘RGE ~/ C>] ﬁk :ﬂ]:: ~
v N8 o @@ - Y& Loy = %9
| - |
e ~ | O - . - (elerlele elrle elele el elele
[~ N = ™ W UAUN 7 5 Q 9 O O
2 —GROUND — - o EMD7W] g - - - [ ] -— Lologlooeokockes /ﬁ /
TERMINAL S 52.9 [2.082] =} ? 3 135.3 | 5.327 N v s Y _
— — o | & \{
< | =
510197 ﬁ
e .
= S \ (
1 = ——i N P L) FETETEnE
J]L Q| E G E DD EDEDE G E R R ﬂj/ | : I o o 0
= BN AR AARERRAEAE S \=—/| | n| i 3 2\ R
:EELEEET RR %&&
T "_TEf§ 0 H b S
T A I
=k == AR
JHHOO00E0HE o 2|0 éj v
| 1 @ Q | 1 ﬁ‘?’% %2 ? OO ‘ @ \/\/
:—:;:::—:—:::;:—_: _ ) [OBOO § ’
ANTTREITINATAD 2|5 <" Atter removing
HHEEEEERIEE B2 8 e Sﬁ O °
TEY% 4 §§{/ ~|o | Covers & Caple guide bDrkt
NSzl <ISnisi=is -
- !!/ = cr r vr v o9

CHANGE

LSis | SLYV—H100 S

1 | At AN Q|

ooz | M “owmson’ | oale = | E=o4@al [H100 TERMINAL & WIRING DRAWING
gigJéléill_OEN / NS MM . . TITLE FRAME S‘ZE A <400\/>

[ALS DUCOMENT AND - INFURMA TIEN Coils

COUNTAINED IN 1T ARE CUNFIDENTIAL AND | pwe. No

CANNUT BE CUPIED UR DISCLUSED N "

wHULE URIN PART WITRUUT PERMISSILN
|

ol =2
il
= H]
2 rr




Jf'b

541]

5.6 [2.189]

267.8 [10.

181 [7.126]

P i?jjjjj @ %%
P O HH AR HF i °
NN ﬁ O ) (0 {:D
|| I |
g : T |5 ' ® @
S / ol e R
2 [l L
nnnnne 52.5 [2.067] 44 [1.732]
) —
\\\333333: 21.5 [0.846] o
3-922.5 [#0.878] 5—928.6 [@1.126]
E \ @) A = == =
\— O10
— > N Y2
: o ! o NPANPI={=NV, |
T T T ﬁ @B K\ e ) (C ) g
56.7 [2.232] ~ 15| / /‘"\\ //' -
- - - |2 - - L
2 — L/ c
11 1o =
U . ) 4.5[0.177] =)
= M~ S
I i = 45.5[1.791] 45 [1.772] Ei
0 B T B B
i >

O O
—>
C ) ( )
C D C D
C ) ( )
C D € =)
lII ( ) ( )
a . D)
(II

T 1 )
auiniviviviele ez in N Inin
7'"_7_<'_<§ - 7_'7_<""§
AT AT N
i 1 | \ [
AN / \ AT
AE_E\ L /S_EA<
| | < : S I | | ¢ Z ‘7‘ N | I 2 > ||
_LLLLLELhd alalsinlainls &)

oD View
Condult Option

S0 View

DUrive + Condult Option

CHANGE

LS | SLV—HTO0 S

o 2 8] T ™ | Towesor | o | =2 [HI00 CONDUIT OPTION DRAWING
PROJECTION / . NS MM . . TITLE FRAME SIZE A
THLS DUCUMENT AND INF URMATILN — i =

-1 -

COUNTAINED IN IT ARE CUNFIDENTIAL AND | pwe. No.

CANNUT Be CUPIED R DISCLUSED N

-
19

m
T

wHULE URIN PART WITRUUT PERMISSILN
|

ol 2

:
= H]
=




413

264.5 [10.

206 [8.110] . - 186 [7.323] - aru Zig)
B ; S 178 [7.008]
- ~ ~ 35 [90.197]
Ve /
P ! ——-———-—-7
I | | ‘ =
L
H?— ——) /—J L\ Cﬂl
P f3jjjjj @ € ST i E% @
) a({sinin/is{i=]s
HH _
f SEEERE T o o
' IR g '~ o
/ > | O
m (i A RN
e O
”HHH u || L(Tj T
1:::::_ o e
N @)
\ nfnfnisisinls
= ’\ /‘ £ % L "al® * ‘ 0
R N ] = NEIS S|t
= = | H
D { = N - <

181 [7.126]

N oy , '
LJK L - - - - - _ JK\L/
s — ~
) )

A
2;_fir§

|/II‘IIII"—| M T 11 TH HIT HHI I—”'|III—|\|
_ |/II_|III_| [H TH HI HI |=|III=‘=|\|

5| 4 :' I [EH [ TH TH HT HT1 =T E]|
BEEEE ;

H b

w

=1

1IN I I M Y NZIENENIEMIENIEN
@]L 1 \ / 'Y _Jﬂ
| AN Y \ A |
| NI H A IN A S H EL I
KN (U A NERER = N
sl al=l=l=lsls alalsinlainls

55.1 [2.169]

@

e

ﬁ@&@@@&é&@@%

o L o

VAR S\
S0 View 2N View

Urive + rlange Uption

-lange Uption

CHANGE

LS | SLV—HTO0 S

~ = Ct o| At A\ Q|

AD*BRD?N*GLE%* ' scaLe T DIMENSION - Copae | =g A I HT00 FLANGE OF [TON DRAWING
PROJECTION / . NS MM . . TITLE FRAME SIZE A

THIS  DUCUMENT AND INFURMATILN =

-1 -

COUNTAINED IN IT ARE CUNFIDENTIAL AND | pwe. No.

CANNUT Be CUPIED R DISCLUSED N

-
19

m
T

wHULE URIN PART WITRUUT PERMISSILN
|

ol 2
:
= H]
=




——I 1

I,
HE
L
=
J il
i 3.5 | 90.138 | HOLE
| = | L FOR M3 SCREW 49.3 [1.941]
=n £ | ]
1 (I ] - ' ' o
L g T O HE
S [J L
Ty - O -
000000 it “E’“ - ™~ j {
' |[000000 I % %
. C 7 .
R e P P o 3.5 [$0.138] HOLE
. @ @ @ @ O||© @ @ @ @J [ ) B FOR M5 SCREW
B i i il i i i i i B f o . \_/ DDA \
E 1] | = ] e <t /
(%>4:JCHARGE mi a © -
IS I
DO = 0 =] —
000000| = al
3 Y toooooo"
5 10.197
/ 13 :—'\S\E
— TN EDEDEDE D= b
— | = . @@@@@@HL {L !
L ) 0 O = S ) B |
D0 081 B 0 £ e O e e GO e O S e Bt e D iy I _—
i L VLVRVATE Y st 1] LU RV RVRYA VU ROV LV LV Y VAUV D A AT |I L1 mi=il ‘ % RS
—
q E _W 0 00
_ ,
= | — ////0 L
% =] IIFf == PR I e (eleeleleelele slele|clele lele N CICCIEICTE) -
N T | © = O
Q Q B Q 3 Q Q e e elelelelelclelelcleleleleleclelefy Yiclclolzlele) @@ N
L) g e \VANVA\VA\VANVA\VA\VANVA\VANVANVA\VANVANVA\VA\VANVAY /[“\EDEZ(E;ED' \
I [ == s ‘
a[uinjuluiulw siniviniwivis Sl | -
allziinlizlimiinlic yizimEnEnEnEn L] 35 ~
7 N % < M |
L LU T ;
__Tg__:% Siatala itz lal \ER\\SER\\ =\
VTR D Askilsaels [ ] ZACHARGE
slalslslsln)s alnlaininlsls R

W@

%%&& ‘ S0 View

S View Option Module
Urive + Option Module (EXTENSION 1/0,

CHANGE

LS | SLV—HTO0 S

oo Toonr = | Cowmson | oare = | EoigiAl [H100 OPTION MODULE DRAWING (EXTENSION 10)
PROJECTION / . NS MM . . TITLE FRAME SIZE A <ZOO\/>
THLS DUCUMENT AND - INF URMA TILIN Coils

COUNTAINED IN IT ARE CUNFIDENTIAL AND | pwe. No.

CANNUT Be CUPIED R DISCLUSED N

WHOLE OR IN PART WITHOUT PERMISSION | "Rrer. o
|




| | 1
4 @
L B
=
0 4 y »3.5 [90.138] HOLE
| =P % 1 FOR M3 SCREW 3 4900 [ 1.941]
= ||| | ; 726_ I J :_
HiEals n T E
L i I[] %
= | O
ET - L |
O00000| =i I EQ
000000) J% = $3.5 [90.138] HOLE
L/ SEEEEE] LL, - o - FOR M3 SCREW
\/: : :\/:\/\/\/ :|:|i ﬂ! /
N
@@CHARGE (IHL ] Q B HHH T
CISI& — ~7 ﬁ@ 00000 EE &
Y iOOOOOdH
5 [0.197]
DEDEDEDEDE }
e — | FEEEEEEL, | v
- ;% ]
NI v, F
3 R R R EEEEL L O
=)\ (AN AL 5 EEERHE Ij 470 9?
VU U IRRYV U U PV VWO UOUYRAPUT Y | 1 =il S C
////0 LQ
. ? (ole|elele elele elele elele elele hm (CXolCIE I e o N)
~ | — | O eleelele)elele elele)elele elele ceooea/\T
CNN) i OQ VANVA\VANVANVA\VANVANVA\VANVANYA\VAAVANVA\VANVAYAY ‘//“\mmm&u;uﬁ @\
L(”j L( W L
1= | — | © -
L i Ny | O '
THHEARE R sInInIviviy g I
HAHRERER = i |= fuil=(i= Te [NDCJ <t ﬁ
i 4 N | 7 N il hRN ey W\
f?i:::jf i:::j;" D( LCHARGE .
AR H A IR AR EL N \ (
i D Mimmme
BN o A\ A\ O @
%&&&@i&&%%\&
rve - Ootion Modu Option Module
—
- o 4
) LS SLV—H10C
o 7w | T e T | Tonmeo | oae o | =04 ZAl [HI00 OPTION MODULE DRAWING (EXTENSION 10)
3RD ANGLE
§ PROJECTION / . NS MM TITLE FRAME S‘ZE A <400\/>
<C
= THLS DUCUMENT AND - INF URMA TILIN EHES
CUNTAINED IN T ARE CUNFIDENTIAL  AND DWG. NO
N CANNLT BE CUPIED R DISCLUSED N

wHULE URIN PART WITRUUT PERMISSILN
|




P
Alli=
| 1
_[ @
/ ]
[ w
| = 1 $3.5 [30.138] HOLE
I i FOR M5 SCREW
E i o 49.3 [1.941]
_ /7 - -
Il - E
— R A — g
R NS ) - E
il r AP 00 1 U
sl=|=|lEEIElElElElE] [k .
[ e K ' , \ / A ! - i ]
o T o ) D 3.5 | 90.138] HOLE
| ﬂii s ™~ B FOR M3 SCREW  F
DD — — - / ]
oOon 9 Q
' ﬁ [EINEEIN d@ UJ:EE
000 )
I =N
UUT T iy U \ N,
SV | W/ / VLT el W
| E ] QQ/@@@/@@Q/@@@/@@@/@O@ l [ ] — I
% — 5 / \VVA\VA\\VA\VK\V‘A\\V‘A\V'A\VA\\VA\VA\V‘A\\V‘A\V‘A\VA\\VA\VA\VA\ ?
— =B e = N /N clelelelelelelelelelelelelelelele Y 0
e |0 ,
N -
JOHBEHHEEY R -
B o <@
B B N (LQQ
INNNIE A o |9 -
siuiuluiululw aiwlelniwinls S o
TN AT T Al
SRR AP AR TN A =~
il alatal? il labtal N .
i I g 58 I : RIE \< AT c{‘%
A HEHE iiJjﬁi: R \\‘

AVAVAYA Vaum

\ Y o DT o _
LNy &
W

S View Option Module
Jrive + Option Module (LONWORK

CHANGE

LS | SLV—HTO0 S

8 A 2 Teone = | “owensor Y o5 P = oigial [H100 OPTION MODULE DRAWING (LONWORK)
PROJECTION / . NS MM . . TITLE FRAME SIZE A <ZOO\/>

THIS  DUCUMENT AND INFURMATILN =

-1 -

COUNTAINED IN IT ARE CUNFIDENTIAL AND | pwe. No.

CANNUT Be CUPIED R DISCLUSED N

-
19

m
T

wHULE URIN PART WITRUUT PERMISSILN
|

ol 2
:
= H]
=




ilim 3.5 [#0.138] HOLE
e P FOR M3 SCREW
N L 49.3 [1.941]
—[é — @ ¥< - _
B [0 E
Il & H A —— U
P /7 il A ) — =
- [ N O — [
== L TH L ~ »3.5 [60.138] HOLE
lal 11 il - D FOR M3 SCREW
gk | & D?jyﬁﬂ . - =
Ly | [HIT — - C
f&’ | OOu Q
. | =
~ 5 0 |l T :
| = : 00O
dlEISiE] L@@@@@@@ LL | —
e A_éJDQ;CHAF;GE — {_ ©
DOG —
N i A ¢
<
O
CNN) F) / ‘ o elele eleleelele eleleelele)
o |0 é
i ZEEEEE_E j_jjjjj mi | =R R
1=t ElS ANTIRT S| I, e e ST L
L L L — | A ‘ | ““““/
AE—6> <S f: lo‘f.-t-ﬁ
slalalalalsls ijgjji o/ g;\‘ —
e \ e @ A \
\\‘ - oo0] \‘\
o
e = ' Option Module
Jrive + Option Module
— 5 N
; LS  SLV—H10C o~
a oz e T ™ | Towewo | oA - | So4gdal [H100 OPTION MODULE DRAWING (LONWORK)
SRD ANGLE
§ PROJECTION /NS MM TITLE -RAME SIZE A <400\/>
<
5 THIS DOCUMENT AND INFORMATION Coied s
CONTAINED IN IT ARE CONFIDENTIAL AND | pwe. no.
N CANNOT BE COPIED [R DISCLOSED IN p——

m
T

wHULE URIN PART WITRUUT PERMISSILN
|

ol 2
:
= H]
=




W 2 5 - e 0 / 3
- MATCHED H100 DRIVES FOR FRAME SIZE A |
tem Applied Motor Phase / Voltage Output Current Weight Heat Loss(W)

00ooHT00—2 ND: 7.5HP / 5.5kW 3¢ / 230V 272 OA 7.3lb / 3.3kc 100
00 /oR100—2 ND: 10HP / 7.5kW 3¢ / 230V 50.0A 7.3lb / 3.3kc 158
OT10R100—2 ND: 15HP / 11kW 3¢ / 230V 47 .0A 7.3lb / 3.3kg 130
D0ooR1T00—4 ND: 7.5HP / 5.5kW 3¢ / 460V 12 .0A 7.3lb / 3.3kg 92
00 /om100—4 ND: 10HP / 7.5kW 3¢ / 460V 1o .0A 7.3lb / 3.3kc 12/
O1T10HT00—4 ND: 15HP / 11kW 3¢ / 460V 24 OA 7. 4o / 3.4kc 1/5

* HD: Heavy duty type for constant torgue load

* ND: Normal duty type for variable torque load

* Heatloss 1s measured witn oOHz, 100% load and default carrier frequency.

* Refer to product manual for additional detalls and specifications

CHANGE

[TRMPMHSPCF(N&TONF(N%FRAMTSZ/&]
e nput / OQutput nput / Output Control Circuit Control Circuit
Terminal Screw Size Screw Torgue Terminal Screw Size >crew lorque
0055H100—2 2
0754100 — o V2 2.2 ~ 2.0 Kgf.cm
- 01 ~ 6.1 Kgf (P1=P7/CM VR VT /12 A0/ f§f>“£%%5gfﬁ
JuRoLe e L0l R9kCm 01 JEG /24 /TI/TO/SA,SB,SC R "
V4 0.0 ~ 0.6 Nm | 91/EC/ géé/§é>? SC/
DUSoRTUU—4 1.82 ~ 5.30 Ibf.ir S V2.6
0075H100—4 4.0 Kgf.cm
V2.6 (A1,B1,C1) R
0110H100—4 347 Ibf.ir
 SLV—5T00 T

SHEETS

SSSSSSSSSSSSSS

i
0
l
HT
g
0%
0!

33333333
OOOOOOOOOO /NS MM

—

H100 SPECIFICATION
-RAME SIZEA

THIS  DUCUMENT AND INFURMATILN
CUNTAINED IN IT ARE CUNFIDENTIAL  AND
CANNUT Be CUPIED R DISCLUSED N
wHULE UR IN PART M'THUUT PERMISSIEN

P [
rm

o fl
0

A
s T

ol 5

= ] QFQ[L

m
]
“rel 9 to




	H100_Frame_A_1
	H100_Frame_A_2
	H100_Frame_A_3
	H100_Frame_A_4
	H100_Frame_A_5
	H100_Frame_A_6
	H100_Frame_A_7
	H100_Frame_A_8
	H100_Frame_A_9
	H100_Frame_A_10

